
1−10

1

10

210

310
D

at
a 

/ 1
00

 G
eV

 (13 TeV)-135.9 fbCMSPreliminary

e, bL, LP

 HH) = 0.2 pb→(X Βσ

Data
Fit unc.

 bkg.tm  bkg.Wm
Lost t/W bkg. q/g bkg.

spin-01 TeV X spin-02.5 TeV X

1000 1500 2000 2500 3000 3500 4000
 [GeV]HHm

0.5

1

1.5

D
at

a 
/ f

it

1−10

1

10

210

310

D
at

a 
/ 1

00
 G

eV

 (13 TeV)-135.9 fbCMSPreliminary

e, bL, HP

 HH) = 0.2 pb→(X Βσ

Data
Fit unc.

 bkg.tm  bkg.Wm
Lost t/W bkg. q/g bkg.

spin-01 TeV X spin-02.5 TeV X

1000 1500 2000 2500 3000 3500 4000
 [GeV]HHm

0.5

1

1.5

D
at

a 
/ f

it

1−10

1

10

210

310

D
at

a 
/ 1

00
 G

eV

 (13 TeV)-135.9 fbCMSPreliminary

e, bM, LP

 HH) = 0.2 pb→(X Βσ

Data
Fit unc.

 bkg.tm  bkg.Wm
Lost t/W bkg. q/g bkg.

spin-01 TeV X spin-02.5 TeV X

1000 1500 2000 2500 3000 3500 4000
 [GeV]HHm

0.5

1

1.5

D
at

a 
/ f

it

1−10

1

10

210

310
D

at
a 

/ 1
00

 G
eV

 (13 TeV)-135.9 fbCMSPreliminary

e, bM, HP

 HH) = 0.2 pb→(X Βσ

Data
Fit unc.

 bkg.tm  bkg.Wm
Lost t/W bkg. q/g bkg.

spin-01 TeV X spin-02.5 TeV X

1000 1500 2000 2500 3000 3500 4000
 [GeV]HHm

0.5

1

1.5

D
at

a 
/ f

it

1−10

1

10

210

310

D
at

a 
/ 1

00
 G

eV

 (13 TeV)-135.9 fbCMSPreliminary

e, bT, LP

 HH) = 0.2 pb→(X Βσ

Data
Fit unc.

 bkg.tm  bkg.Wm
Lost t/W bkg. q/g bkg.

spin-01 TeV X spin-02.5 TeV X

1000 1500 2000 2500 3000 3500 4000
 [GeV]HHm

0.5

1

1.5

D
at

a 
/ f

it

1−10

1

10

210

310

D
at

a 
/ 1

00
 G

eV

 (13 TeV)-135.9 fbCMSPreliminary

e, bT, HP

 HH) = 0.2 pb→(X Βσ

Data
Fit unc.

 bkg.tm  bkg.Wm
Lost t/W bkg. q/g bkg.

spin-01 TeV X spin-02.5 TeV X

1000 1500 2000 2500 3000 3500 4000
 [GeV]HHm

0.5

1

1.5

D
at

a 
/ f

it


